

Memory Express Ltd 51 Park Royal Road, London, NW10 7LQ

Tel: 020 8453 9700

Web: www.memory-express.co.uk Email: sales@memory-express.co.uk



# D-Link DGS-105D 5-port 10/100/1000 Gigabit Metal Housing Desktop Switch



No Image Available

This desktop switch offers an inexpensive alternative to fibre optics for the SOHO and small and medium business (SMB). Increasing network loads can be handled with the increased bandwidth of Gigabit Ethernet. The switch provides 5 Gigabit ports in the familiar Ethernet format, so it works seamlessly with existing network cables (CAT5 or higher). Up to 2000 Mbps can be achieved in full-duplex mode, giving workstations bottleneck-free access to server data. All there is to do is plug the cables into the switch. All ports support both straight-through and crossover cable types, eliminating the need for an uplink port. And with 10/100/1000 Mbps auto-sensing, no configuration is required. By sensing whether attached devices are ON or OFF and estimating the cable length, the switch is able to adjust its power consumption, for a total saving of up to 27%

**Barcode** 790069368219

Fixed Ports 5 port(s) x RJ-45 , 10/100Mbps , (5 x 10/100 BASE-T)

**Dimensions** 14.42cm (W) x 10.02cm (D) x 3.26cm (H)

#### **Features**

- \* Power-saving feature, up to 27% less power consumption (dlink green version only)
- \* 5 Gigabit Ethernet ports
- \* Plug-and-Play installation
- \* Desktop size, no fan
- \* Inexpensive Gigabit solution for SOHO & SMB
- \* 5 10/100/1000Mbps Gigabit ports on Cat. 5
- \* 10Gbps switching fabric
- \* Auto MDI/MDIX cross over for all ports
- \* Secure store-and-forward switching scheme
- \* Full/half-duplex for Ethernet/Fast Ethernet speeds
- \* Blazing 2000Mbps full duplex for Gigabit speed
- \* IEEE 802.3x Flow Control
- \* Easily installable on desktop



Memory Express Ltd 51 Park Royal Road, London, NW10 7LQ

Tel: 020 8453 9700

Web: www.memory-express.co.uk Email: sales@memory-express.co.uk



# D-Link DGS-105D 5-port 10/100/1000 Gigabit Metal Housing Desktop Switch



No Image Available

### **Specification**

#### General

This desktop switch offers an inexpensive alternative to fibre optics for the SOHO and small and medium business (SMB). Increasing network loads can be handled with the increased bandwidth of Gigabit Ethernet. The switch provides 5 Gigabit ports in the familiar Ethernet format, so it works seamlessly with existing network cables (CAT5 or higher). Up to 2000 Mbps can be achieved in full-duplex mode, giving workstations bottleneck-free access to server data. All there is to do is plug the cables into the switch. All ports support both straight-through and crossover cable types, eliminating the need for an uplink port. And with 10/100/1000 Mbps auto-sensing, no configuration is required. By sensing whether attached devices are ON or OFF and estimating the cable length, the switch is able to adjust its power consumption, for a total saving of up to 27%

#### Information

We have very limited data about this product. Please contact us from more information.

#### General

**Barcode** 790069368219

#### **Performance**

MAC Addresses 2,000

**Port Bandwidth** 10/100 (HD), 20/200 (FD)Mbps

**Topology** Star

#### **Interfaces/Ports**

Full Duplex Capabilities Half or Full on All Ports

**Fixed Ports** 5 port(s) x RJ-45 , 10/100Mbps , (5 x 10/100 BASE-T)

**System** 

Certifications FCC Class B ICES-003 Class B CE Class B C-Tick Class B VCCI

Class B cUL CB

#### **Environmental**

**Environmental** Operating Temperature 0 to 50C - Humidity 10 to 90%



Memory Express Ltd 51 Park Royal Road, London, NW10 7LQ

Tel: 020 8453 9700

Web: www.memory-express.co.uk Email: sales@memory-express.co.uk



## D-Link DGS-105D 5-port 10/100/1000 Gigabit Metal Housing Desktop Switch



No Image Available

### **Physical**

Case Colour White

**Dimensions** 14.42cm (W) x 10.02cm (D) x 3.26cm (H)



Memory Express Ltd 51 Park Royal Road, London, NW10 7LO

Tel: 020 8453 9700

Web: www.memory-express.co.uk Email: sales@memory-express.co.uk



# D-Link DGS-105D 5-port 10/100/1000 Gigabit Metal Housing Desktop Switch



No Image Available

### **About Memory Express**

Although we started out selling just Memory the best part of fifteen years ago, we have diversified organically over the years at the request of our customers. We specialise in Networking, Storage and Disaster Recovery and have the knowledge, experience and strategic partnerships to provide you with the service and value you demand - quality products, reasonably priced and delivered on time

Memory Express can offer you a full range of installation and configuration services for hardware and software as well as detailed, accurate advice on all aspects of your IT projects. You'll be glad to know that we don't have a room full of school leavers trying to sell products they don't understand - all our staff are seasoned IT specialists and have an average length of service of over ten years. We won't just push you towards the solution we feel like selling; we'll help you to find the one you need.

Meanwhile, online, we offer one of the largest product ranges of any UK IT supplier. Showing near live stock, in depth product information and keen pricing, we're sure you'll find what you need. We also have matched memory upgrades for over 50,000 models of computer, server, printer, phone and camera, guaranteeing you the right memory, first time. All this is backed up by the same great service you'd expect when dealing with us over the phone. For our regular business customers, we provide T3, our corporate purchasing portal which provides a truly corporate focused buying experience.

We're conveniently located in Park Royal, London's Technology Business Park, allowing us to reach all areas of the UK quickly and efficiently. Many of our City based corporate clients benefit from same day delivery and we can offer next day delivery to established customers throughout the British Isles. Online delivery tracking and status information means that you need not worry about the whereabouts of your order.

We're proud to have built up a wide variety of partnerships with quality vendors and many of our staff hold certifications from top tier manufacturers including Microsoft, Acronis, Symantec and VMWare.

Our clients vary in size from SMEs to many of the UK's largest corporates, government departments, schools and universities, and we're pleased to say that most have been our customers for many, many years - we believe in long term business relationships, not turning a quick profit. Why not contact us now to see how we can help you get the quality of service they already enjoy?